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Proving Segmients are Congruent

1. A(-3,2) B(l ,7) C(4 1) D(-1, -5)
Prove that AB = CD
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2. A(5,2), B(8 0), C(9, 1) and D(7,3)
Prove that AB not = CD
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3.N(2,-3), R(6 -2), Q(8 -1), and W(4,-2)
Prove that NR = QW
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4. T(8,-6), A(-2,1), C(+4,-3), and O(6,-10)

Prove that T4 = CO
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5. M(-5,2), O(5,7), P(-4,-3), and S(3,-7)

Prove that MS not = PO
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6.1(0,-2), 0(-5,5), S(4,1), andH( 3,6)
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7. P(-7,0), L(-4,3), U(O,l), and M(-3,—25.
Prove that PM = LU
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8. S(-4,7), A(54) B(-1,7), R(-10, 0) ;
Prove that S4 /4 BR
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9. M(8,9), I(-1,4), L(3,-1). R(8, 8)
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